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"\“-*'AFM Test Review — Module 1

In 1990 the average price of a new car was $12,280. In 2004 the average price was $16,700. If the price

1;
changes in a linear manner:
a. Which is the independent variable? Dependent variable? Why?
Aeor CosY ’
6 1L, Z5%9 el L,joo\
b. Find the equation which models this behavior. ( : ! \ ( \ I
Y=2\S- X ¥ 12280
c. What do the slope and y-intercept numbers mean for this model?
m-2\S. ) Codd v nlrenie s 12\S. 1\ per Yev’
b - 17280 The gciing Prce v 1EG 0 wos B12280 -
d. What will you expect the average price to be in the year 2008?
Y=2\S W) x %o
2. Below is a chart of the weight of a radioactive material on given days. Draw a scatter plot. Determine
which is a better fit: linear; exponential, éubic ,or quadratic regression. Why? Find the appropriate
regression equation.
Day 0 - 1 2 3 4 5 6 7
Weight 1000 - 897.1 802.5 719.8 651.1 5834 521.7 463.3
X
Y =99 §.41(. 40)

3. Evil Knievel is thrown out of a canon. The chart below represents his time versus height traveled. Find
an appropriate@@uadratic fupction to model the data. What is your equation? Round to the nearest
hundredth. . P .

Y= —-003x"x. 9L » 42,24
Time, x 0 20 Y 40 60 80 100 120 140 160 180
Height, y 40 60 75 80 83 S0 92 55 20 84

a. What is the value of y when x=0 and what does this tell us about the situation?

r=SZIAN  eaning Taes sem\m ey wons U2,24/( Tk,
enten (O az2o0 ) é e :

b. Find the time it takes for Knievel to reach his maximum height. I 2-54 g g =€C .

X
c. Whatis his maximum height? : % .C\\ E*
290,132 sec.

d. Find the time it takes for Vnievel to hit the ground.




' mbers of stepsper ;'
Good runners take more steps per second as they speed up. Here are the average nu ; second qup s
second for a group of top female runners at different speeds. The speedsare in feet pe i
want to predict steps per second from running speed. . 2

' L 1
Speed (ft/sec) | 15.86 16.88 17.50 18.62 . | 19.97 21.06 - 225-;1 (
Steps per 3.05 3.12 3.17 325 © .|3.36 346 | 3.
second

2, 08X + 17

a. Find the line of best fit. Lé - ’ \
_.0%  woeed \ncteuse s OB cels Ry S2 Lol

b. Whatisthe slope?’Whgt does it mean?

Uhen sgeasys O%xlSeC b
What is the y-intercept? What does it mean?(o | ”]_'\ Wa \ 1-!”[ S ’1"5’(,_

C. Whatis the independent variable? St\)eec\_

What is the dependent variable? S)‘ﬁj?’) ’QW SQ_LQN\

d. Use your equation to find the steps per second taken by a runner who is runmng 18.2 ft/sec Is this :
interpolatiopor extrapolation? 2, 22\ X
e. Useyourequation to find the steps per second take by a runner who is running 29.5 ft/sec. Is this

interpolation@r extrapolation? (_‘ \"5

f. What is the residual at 17. Sjit/sec'-’ What does it mean?

\ Qgt- \"15“?-%!::,'
e &'ué:s w\cﬁx

o 10 20 SV faO N0 $9 90 Joa 11O
The table below states the annual%torld crude oil productlon (in millions of barrels) since the year 1880,

Year | 1880 | 1890 | 1900 [ 1910 | 1920 | 1930 | 1940 [ 1950 | 1960 1970 '| 1980 | 1990

Oil 30 77 149 328 | 689 1412 | 2150 | 3803|7674 | 16690 | 21722 | 22100

a. Find t regression equation which best mggels this data.
| Y= 4sa8(l:0)"

b. Usevyour equa tsa predict the millions of barrels produced in the year:
i. 1008(% ii. 1964 €Y i 2006 (& ® iyv:2015 /8%
2b0. 87 .o EU10 mb l[s ZIOt‘nb 2.DIS-"="l 0

c. Find the domain, range, a2nd ratsof growth.
X220 675
Y 20 Com
. B,
A



£ 7T eT newws LIS LUNIVET OT CArs in i : : ey gt —
r hours after the mal| g the parking ot at Cr‘ab?ree \‘If-nll_ey Mall at given intervals of " :=: -

mﬁﬁ:;erof : L 12 s 4 = L i £
Cars 1148 |1085 |2270 [5763 |7905 | 6120 | 2325 |970 | 210

a. Whatis the independent variable? \(‘\D\NS - ' R

What is the dependent variable?’ ~tF M CeCS 7 .

b. From_observing the scatterplot would you observe that the data is linear, exponential, cubic, or
quadratic24ind the appropriate equation that models the data.

Y = -402. 2172222 . Tx =% LY

¢. According to your model,
i. How many cards would you expect to find in the parking lot at exactly 9.8 hours after

the mall opening? ' =
. -\ ¥S ¥ .

ii. Whatis the maximum number of cars you would expect to find in the lot? How many
hours after opening would this maximum occur?

T Loy @ HnS

7. The population present in a bacteria culture over 5 days is give in the table below:

Time (days) 0 1 2 3 4 5
Population 30 133 214 337 527 819

a. Determine which is a better fit: linear, exponential, cubic, or quadratic regression. Why? Find the

. ' 7 ‘r{-’-"u’zag
&jz(o,qh\x%-lg.(oox F G EeXxt S |

appropriate regression equation.

b. Estimate the population after 7 days.
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